WIR 12 152

Monday, April 20, 2020 1:37 PM

Quick Notes Page 1



MATH 152-Spring 2020 T TEXAS ARM UNIVERSITY
Week in Review XII . Math Learning Center

es5
1 Section 11,10 Ty lor e )
@z& A-m» ~ n C. = ‘c @)
o w= Zea0d) 0= o
o s o 52
X
X - - a0 4N
r e A:Oﬁﬁ(' )'\)&D‘M\ x = E_C\) X
» - - — Co0S - \
Losex = 2T, T o @
V=K nTo
L.l{) find the Taylor series of the following functions: cm+ G‘f\A To”‘b"ﬁ“&ed
(a) f(z)=e " centered at a 1 ") nonzero C'Mk’? S&M
2 LA A\ ¢
sa= Tekd e 0
az0

-?('3 e-m—\e -eye -6

£0) = (\)c ,7 £(=0)= (DC —(Bc
£z (HE)ET =)' —74‘(-\):(-\)3
4"'@ (o‘me —(—o‘c" 5 £ (e @ e
(“‘)'—’- (") e so Cp= o :__7\__‘.,
- E* - °Z°: (-‘_);"e_,'@ﬂ)n}

n=0

Quick Notes Page 2



w
i Cn (l\’b* (0)
(()) - ) o 1_1: - " Eo s
(b) f(x) = sin(zx) centered a 4’ (K) - S X g ; ( J)' T ‘ﬂ
- Oy oo (ST ET0
o = CoSX = > 2 a
ned

() = -Sax D £ (3)=-sn32

) OB E D § ) L ) - amdg

5 D -
2 SX e :x *:f\‘ (('3 (j\‘a) ‘
o) e Z T ) ; ((:) (\)(-1)x3=(--) ()< 5’ (‘H")g@

l“\ Ly (12) 3K ,(_,)(ll 3)" -
@=6) NI gn)w

o2 £ = (0 (0 &

"(‘.0 S (’“)!9‘ (')

C—ns_l_' nY ) “3"

n.
Sty

(¢) flz) =In(x) centered at a =2

Quick Notes Page 3



(“c 0)
2. Use known Maclaurin Series to find the Maclaurin series of the following: - 2'\*‘

-
(a) flx) = wsirl2a) S“es we kw = 5,'\ X = Z ( ‘
nzo (3'“‘)

. 2 A" aAn+ |
5-!\(1;) - ,\Z:OC‘D’L:}%T-'
/’ﬁﬁ'ﬁ& vt
%+ $n(ax) = x z (-2—%‘)/(_

ank‘
Ly J.n\ :X"x

. s = 2D A

(b) £(x) jﬂ (]

Quick Notes Page 4



3. Find the coefficient of x* in the Maclaurin series for f(x) =

1 i.r- €. Cou\d wse A&‘('( nton

ﬂ’

= 3
We know -(—:;-- Z_x = | x4 X EXT L

n,o 2 3
)
% X X X
e = —n-‘:\*.l*—,‘-['«?*...
n’o L] Ol

5\
;'(
\—/
’(b
\/
r>
4
x
4-
p
+
®»
AT
i:
®
+
9
»
s,
>
g

2 Section 11.11 Tps,\or ?0 YMHML\S

dves
< (q ) (corpute all N decva
(ﬁ) = Z_ (* “) ne P‘Hem “uué)

Quick Notes Page 5
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3 Exam III Review
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